(1)SIERT72 (8117 : 1)
HBEHES| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FEst
B4l 13,567 13,567
BHRE 3,422 3,422
EFE 2,828 2,828
SR 8,150 8,150
MBE 3,115 3,115
5= 3,020 3,020
BER 4,940 4,940
ZHe 10,373 10,373
AR 6,947 6,947
HER 4,936 4,936
BEE 9,140 9,140
FEgEE | 21,220 21,220
RRED 2,141 2,141
W) 6,306 6,306
FiRe 6,193 6,193
BEWLE 3,073 3,073
BINE 2,625 2,625
BHE 1,420 1,420
WS 1,115 1,115
EHE 4,917 4,917
[ 5,138 5,138
Bme 6,547 6,547
BRIS 13,418 13,418
=88 4,363 4,363
HER 810 810
REBAT 10,730 10,730
ABRAT 4,498 4,498
gE8 12,486 12,486
=RE 1,563 1,563
FIE ] 3,818 3,818
BWE 1,900 1,900
SRS 1,447 1,447
IS 4,538 4,538
L8R 5,922 5,922
WoE 3,281 3,281
A= 1,665 1,665
B 2,123 2,123
BIRES 3,669 3,669
SRS 1,154 1,154
e 9,240 9,240
== 3,930 3,930
Eg8 3,248 3,248
REARR 4,623 4,623
PNal 4,708 4,708
SIFE 4,452 4,452
BRESR 3,542 3,542
et =] 5,725 5,725
Bt (%) | 247,986 247,986
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(2) D7 0V4A0IRT 2 CIaRD)

HBEHES| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FEst
bl 12,346 12,346
BHRE 2,964 2,964
=F8 2,255 2,255
SR 8,053 8,053
MBE 3,132 3,132
5= 2,609 2,609
BER 4,640 4,640
TS 9,047 9,047
PN 6,678 6,678
HER 4,593 4,593
e 8,757 8,757
FEE | 20,013 20,013
RRED 1,527 1,527
gaES 5,977 5,977
FiRe 5,496 5,496
BEWLE 2,764 2,764
BINE 2,438 2,438
BHE 1,413 1,413
WS 1,047 1,047
EHE 4,286 4,286
=l 4,277 4,277
BRE 5,964 5,964
BRIS 12,562 12,562
=88 3,910 3,910
HER 619 619
REBAT 10,603 10,603
KBRS 3,565 3,565
gE8 11,127 11,127
=E8 1,157 1,157
FIE ] 3,747 3,747
BWE 1,763 1,763
SRS 1,334 1,334
IS 4,194 4,194
LhE88 5,983 5,983
WoE 3,016 3,016
BER 1,443 1,443
B 1,815 1,815
BES 2,675 2,675
SRS 1,051 1,051
e 8,190 8,190
HER 4,084 4,084
Eg8 3,153 3,153
REARR 4,294 4,294
PNal 4,409 4,409
SIFE 3,972 3,972
BRESR 2,446 2,446
PR 4,170 4,170
Bt (%) | 225,558 225,558
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(3) ARIA TR (8417 : #5)
HBEHES| 48 58 68 A 84 98 108 [ 118B| 128 18 28 38 FEst
Bl fc3El 14,505 14,505
BHRE 3,762 3,762
EFE 2,834 2,834
SR 8,893 8,893
MBE 3,591 3,591
5= 2,870 2,870
Be8 5,354 5,354
ZHe 11,233 11,233
PN 7,034 7,034
HER 4,969 4,969
e 9,294 9,294
FEE | 21,666 21,666
RRED 1,598 1,598
gaES 6,552 6,552
FiRe 6,670 6,670
BEWLE 3,254 3,254
BINE 2,656 2,656
BHE 1,519 1,519
eI 1,175 1,175
EHE 5,246 5,246
=l 5,225 5,225
Bme 6,715 6,715
BRIS 14,842 14,842
=88 4,938 4,938
HER 711 711
REBAT 11,298 11,298
ABRAT 4,171 4,171
gE8 12,950 12,950
=RE 1,634 1,634
FIENIIE! 3,908 3,908
BWE 1,866 1,866
SRS 1,421 1,421
IS 4,895 4,895
LhE88 6,540 6,540
Wog 3,357 3,357
BER 1,653 1,653
B 2,142 2,142
BIRES 3,372 3,372
SR 1,175 1,175
e 9,724 9,724
HER 4,358 4,358
Eg8 3,414 3,414
REARR 5,388 5,388
PNal 5,280 5,280
SIFE 4,656 4,656
BRESR 3,547 3,547
PR 5,666 5,666
Bt (%) | 259,521 259,521
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(4) TRF T 32 CIaRD)
HBEHES| 48 58 68 A 84 98 108 [ 118B| 128 18 2R 3R FEst
bl 17,899 17,899
558 9,813 9,813
EFE 2,296 2,296
SIHE 15,533 15,533
MBE 4,662 4,662
5= 3,126 3,126
Be8 10,507 10,507
TS 6,236 6,236
wAE 20,992 20,992
HER 9,208 9,208
BES 12,620 12,620
FzEB8 32,293 32,293
RREP 3,232 3,232
W)L | 10,997 10,997
FiRe 8,607 8,607
sWe 21,326 21,326
BINE 2,893 2,893
BHE 1,989 1,989
RS 1,102 1,102
RHE 4,432 4,432
RSB 4,345 4,345
GEdRL 9,955 9,955
BRIS 29,216 29,216
=8 5,890 5,890
WER 7,544 7,544
REBAT 19,391 19,391
KBRS 6,571 6,571
gE8 30,356 30,356
=RE 1,465 1,465
RS 4,137 4,137
SIS 7,251 7,251
SR8 1,252 1,252
BLE 16,443 16,443
LhE88 6,620 6,620
WoE 8,712 8,712
(=l 1,177 1,177
B 5,690 5,690
BIRES 3,645 3,645
SR 1,177 1,177
Bme 14,177 14,177
== 7,267 7,267
Eg8 3,920 3,920
=] 13,893 13,893
sl 7,070 7,070
SIFE 4,869 4,869
BRSE 3,536 3,536
e 8,344 8,344
&5t (%) |433,676 433,676
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